
AMERICAN

STYLE BBQ
2502078
Setup Instructions

FR: BBQ style américain  2502078 - Manuel d'instructions
DE: Amerikanischer BBQ-Stil  2502078 - Bedienungsanleitung
ES: BBQ estilo americano  2502078 - Manual de Instrucciones

IT: BBQ stile americano  2502078 - Manuale di Istruzioni



2



3

Need further help? 
support@vonhaus.com

Besoin d’aide supplémentaire ? 
support@vonhaus.com

Benötigen Sie weitere Hilfe? 
support@vonhaus.com

Necesita más ayuda? 
support@vonhaus.com

Hai bisogno di ulteriore assistenza? 
support@vonhaus.com

See our full range at  www.vonhaus.com

Découvrez notre gamme complète sur 
www.vonhaus.com 

Entdecken Sie unser gesamtes
Sortiment auf 
www.vonhaus.com

Descubra toda nuestra gama en 
www.vonhaus.com

Scopri tutta la nostra gamma su 
www.vonhaus.com  

Assembly Time 
90 Minutes



COMPONENTS
FR: COMPOSANTS  |  DE: KOMPONENTEN  |  ES: COMPONENTES  |  IT: COMPONENTI

1 X

1 X

1 X

1 X

1 X

1 X

1 X

1 X

2 X

1 X

2 X

1 X

1 X

1 X

2 X

1 X

4 X

2X

1 X

1 X

1 X

1 X

1 X

1 X

2 X

2 X

1 X

2 X

1 X

1 X

1 X

1 X

1 X

4

1

4

7

10

13

17

21

24

27

31

34

2

5

8

11

14

19

22

25

28

32

35

3

6

9

12

15

20

23

26

29

33

36



COMPONENTS
FR: COMPOSANTS  |  DE: KOMPONENTEN  |  ES: COMPONENTES  |  IT: COMPONENTI

1

4

7

10

13

17

21

24

27

31

3034

2

5

8

11

14

19

22

25

28

32

35

3

6

9

12

15

20

23

26

29

33

36

5



COMPONENTS
FR: COMPOSANTS  |  DE: KOMPONENTEN  |  ES: COMPONENTES  |  IT: COMPONENTI

A: M6*12  (20+1)X B: M6  (38+2)X

C: M6  (30+1)X D1: M8   2 X

D2: M8   2 X E: M6*15   8 X

F: M6*70   2 X G: M6 10 X

H: M4*20   1 X I: M5   4 X

J: M5*12   8 X K: M6*45   4 X

L: M6*35   4 X M: M6*20   4 X

N: M8   4 X O: M8   1 X

V: M4   1 X 30: M6*40   2 X

ATTENTION! Part number 25 covered with grease. Be Careful. Do not clean.

ATTENTION ! Pièce couverte de graisse. Faites attention. Ne nettoyez pas.

ACHTUNG! Teil mit Fett bedeckt. Vorsicht. Nicht reinigen.

¡ATENCIÓN! Parte cubierta de grasa. Tenga cuidado. No limpiar.

ATTENZIONE! Parte coperta di grasso. Fare attenzione. Non pulire.

6



ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

1
J : M5*12    2 X

B : M6*15    4 X

G : M6*35    

A : M6*12   2 X

C : M6*12    4 X

7

A C B

CB J

G

2

3

1

4 X



8

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

2

3

J : M5*12    2 X

B : M6*15    4 X

G : M6*35    2 X
A : M6*12   2 X

C : M6*12    4 X

B C J

A C B G

5

6
9



9

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

4
B : M6*15    8 X

C : M6*15    8 X
A : M6*12   8 X

7

5

8

6

A
C
B



10

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

5
B : M6*15    4 XA : M6*12    4 X

C : M6*12    4 X

ACB

10



11

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

6
D2 : M8*15    2 XD1 : M8*70    2 X

D1 D2

13

12



12

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

7
B : M6*15    4 X

E : M6*15    2 X
A : M6*12   4 X

C : M6*12    4 X

E

B C A

25

23



13

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

8

9

F : M6*70    2 X

22

F

21



14

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

10
E : M6*15    2 XB : M6*70    2 X

G : M6*70    2 XC : M6*70    2 X

29
G

C

B

E



15

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

11
V : M4*15    1 XH : M4*20    1 X

H

V

15



16

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

12



17

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

13
I : M5*15    2 X
J : M5*12    2 X

B : M6*12   2 X

B

J

J

I

IB

19

19



18

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

14
K: M6*45    4 X

K

K

20

20



19

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

15
O : M8*15    1 XN : M8*20    1 X

O

N

17

35



20

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

16

B : M6*15    2 X
E : M6*15    2 X

B

E

24

26



21

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

17
I : M5*15    2 XB : M6*70    2 X
J : M5*12    2 X

36

B
J

J

I

I B



22

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

18
C : M6*15    4 X

L : M6*35    4 X
B : M6*15    4 X

G : M6*12    2 X

C

L

L

B G

27

SHI QIBO
Sticky Note
updated



23

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

19
30:  M6*40    2 X

Use a spanner on part F
Utilisez une clé sur la pièce F

Verwenden Sie einen Schraubenschlüssel für Teil F
Use una llave en la parte F

Utilizzare una chiave sulla parte F

30



24

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

20
M: M6*20    2 X

M



25

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

21



26

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

22
M: M6*20    2 X

M



27

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

23
B : M6*12   2 X
E : M6*15    2 X

E

B
31

32



28

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

34

33

24



29

ASSEMBLY  |  FR: ASSEMBLÉE  |  DE: VERSAMMLUNG  |  ES: ASAMBLEA  |  IT: ASSEMBLEA

25



INFORMATION

30

Intended Use Warning!

The product is for outdoor use only.

DO NOT use indoors, in motor homes, tents, 
sheds, or any poorly ventilated areas.
 
Place on heat-resistant surface in open,
ventilated area. Not a toy - keep children and
pets away during use and cooling. Keep
flammable items, loose clothing and long 
hair away. Do not overload.

Light the product only with firelighters
complying with EN1860-3. Follow all
warnings and instructions for any lighting
equipment or fuels. Keep a fire extinguisher,
garden hose, or bucket of sand nearby
for emergencies.

WARNING! DANGER OF
CARBON MONOXIDE POISIONING

Do not light this product or let it smoulder
or cool down in confined spaces. Do not
use under awnings, parasols or gazebos.
 
Never handle charcoal after lighting.
Always use the Poker provided. Always use
the Mesh Guard when a fire is lit.

WARNING!
 
The BBQ will become extremely hot during
use and cannot be moved. The surface
underneath will also get very hot and stay
hot for some time. 

Keep feet, limbs, and property away from
this area.

Warning: Metal parts remain hot after use - 
don’t touch until cool. Use proper heat-
resistant gloves; standard oven mitts unsafe.
Watch for flying embers. Never leave fire
unattended. After use, extinguish carefully
without water to avoid smoke irritation.
Keep distance while dousing. Wait for
complete coal burnout before ash removal.
Dispose ash safely to prevent fires. Move/
store only when fully cooled.

General Safety
 
The assembly pack contains small parts
which can pose a choking hazard to children
and pets. Place on solid and even ground.

Only use in an upright stable position. 
Do not overload the product as this may
result in damage to the product or
personal injury.
 
Before First Use

Assemble product near its final location,
following manual steps in order. Choose an
unobstructed area away from fire hazards.

Maintenance 

Do not clean the product with any abrasive 
cloths or chemicals. Solvents or detergents
can cause damage to the surface.
 
Check and tighten fittings regularly,
especially one week after assembly. Clean
with mild soap, warm water and soft cloth.

Missing parts? Email support@domu.co.uk 



LEGAL

31

DISPOSAL INFORMATION
 
Please recycle where facilities exist.
Check with your local authority for recycling
advice. 

CUSTOMER SERVICE
 
If you are having difficulty using this product 
and require support, please contact
support@vonhaus.com

WARRANTY 

To register your product and find out if you 
qualify for a free extended warranty please
go to www.vonhaus.com/warranty.
 
Please retain a proof of purchase receipt or 
statement as proof of the purchase date. 

The warranty only applies if the product is
used solely in the manner indicated in
the warnings page of this manual, and all
other instructions have been followed
accurately.

Any abuse of the product or the manner in 
which it is used will invalidate the warranty. 

RETURNS 

Returned goods will not be accepted unless 
re-packaged in its original packaging and
accompanied by a relevant and completed
returns form. This does not affect your
statutory rights. 

No rights are given under this warranty to a 
person acquiring the appliance second-hand 
or for commercial or communal use. 

COPYRIGHT 

All material in this instruction manual are
copyrighted by DOMU Brands. 

Any unauthorised use may violate worldwide 
copyright, trademark, and other laws. 

THANK YOU 

Thank you for purchasing your product/
appliance. 

Should you require assistance with your 
purchase, please contact us at
support@domu.co.uk 

VonHaus is a registered trademark of
DOMU Brands Ltd. 

Made in China for DOMU Brands. 

AUTHORISED REPRESENTATIVE 

Authorised Representative Service 
77 Camden Street Lower 
Dublin, D02 XE80, Ireland



INFORMATION

32

Avertissement d’utilisation prévue ! 

Ce produit est destiné uniquement à l’usage 
extérieur.
 
NE PAS utiliser à l’intérieur, dans les
camping-cars, tentes, abris ou zones mal
ventilées. Placer sur une surface résistante
à la chaleur dans un espace ouvert et
ventilé. Ce n’est pas un jouet - tenir les
enfants et les animaux à l’écart pendant
l’utilisation et le refroidissement. 
Éloigner les objets inflammables, les
vêtements amples et les cheveux longs.
Ne pas surcharger. 

N’allumer qu’avec des allume-feu conformes 
à la norme EN1860-3. Suivre tous les aver- 
tissements et instructions pour tout
équipement d’allumage ou combustibles.
Garder un extincteur, un tuyau d’arrosage
ou un seau de sable à proximité en
cas d’urgence. 

ATTENTION ! RISQUE D’EMPOISONNE- 
MENT AU MONOXYDE DE CARBONE 

Ne pas allumer ce produit, le laisser couver
ou refroidir dans des espaces confinés.
Ne pas utiliser sous des auvents, parasols
ou tonnelles. Ne jamais manipuler le charbon
après l’allumage. Toujours utiliser le
tisonnier fourni. Toujours utiliser la grille
de protection lorsque le feu est allumé. 

ATTENTION ! 

Le barbecue devient extrêmement chaud
pendant l’utilisation et ne peut pas être
déplacé. La surface en dessous deviendra
également très chaude et le restera pendant
un certain temps. Garder les pieds, les
membres et les biens à l’écart de cette zone.

Attention : Les parties métalliques restent
chaudes après utilisation - ne pas toucher 
avant refroidissement complet. Utiliser des 
gants résistants à la chaleur appropriés ; les 
gants de cuisine standard sont insuffisants. 
Surveiller les braises volantes. Ne jamais
laisser un feu sans surveillance. Après
utilisation, éteindre soigneusement sans
eau pour éviter l’irritation due à la fumée.
Garder ses distances pendant l’extinction.
Attendre que le charbon soit complètement
éteint avant de retirer les cendres.
Éliminer les cendres de manière sécurisée
pour éviter les incendies. Ne déplacer/
ranger que lorsque totalement refroidi. 

Sécurité Générale 

Le kit d’assemblage contient de petites
pièces qui peuvent présenter un risque
d’étouffement pour les enfants et les
animaux. Placer sur un sol solide et plat. 
Utiliser uniquement en position verticale
stable. Ne pas surcharger le produit car
cela pourrait l’endommager ou causer
des blessures. 

Avant la Première Utilisation 

Assembler le produit près de son
emplacement final, en suivant les étapes
du manuel dans l’ordre. Choisir une zone
dégagée à l’écart des risques d’incendie. 

Entretien 

Ne pas nettoyer le produit avec des chiffons 
abrasifs ou des produits chimiques. Les
solvants ou détergents peuvent endommager
la surface. Vérifier et resserrer les fixations
régulièrement, particulièrement une semaine
après l’assemblage. Nettoyer avec du savon
doux, de l’eau tiède et un chiffon doux. Pièces
manquantes ? Contactez support@domu.co.uk 



LÉGAL

33

INFORMATIONS SUR L’ÉLIMINATION 

Veuillez recycler lorsque des installations
existent. Consultez votre autorité locale
pour obtenir des conseils sur le recyclage.
 
CUSTOMER SERVICE 

Si vous rencontrez des difficultés pour
utiliser ce produit et avez besoin d’assistance,
veuillez contacter support@vonhaus.com 

GARANTIE 

Pour enregistrer votre produit et savoir si
vous êtes éligible à une extension de
garantie gratuite, veuillez vous rendre sur
www.vonhaus. com/warranty.

Veuillez conserver une preuve d’achat ou un 
relevé comme preuve de la date d’achat.
 
La garantie ne s’applique que si le produit
est utilisé uniquement de la manière indiquée
dans la page des avertissements de ce
manuel, et que toutes les autres instructions
ont été suivies avec précision. 

Tout abus du produit ou de la manière dont
il est utilisé invalidera la garantie. 

RETOURS
 
Les marchandises retournées ne seront
acceptées que si elles sont remballées dans
leur emballage d’origine et accompagnées
d’un formulaire de retour pertinent et
dûment rempli. Cela n’affecte pas vos
droits statutaires.] 

Aucun droit n’est accordé en vertu de cette
garantie à une personne acquérant l’appareil 
d’occasion ou pour un usage commercial ou 
communal. 

DROITS D’AUTEUR 

Tout le matériel contenu dans ce manuel
d’instructions est protégé par les droits
d’auteur de DOMU Brands. 

Toute utilisation non autorisée peut violer
les lois sur les droits d’auteur, les marques
déposées et autres lois dans le monde entier. 

MERCI 

Nous vous remercions d’avoir acheté votre 
produit/appareil. 
Si vous avez besoin d’aide concernant votre 
achat, veuillez nous contacter à support@ 
domu.co.uk 
VonHaus est une marque déposée de
DOMU Brands Ltd. Fabriqué en Chine
pour DOMU Brands. 

REPRÉSENTANT AUTORISÉ 

Authorised Representative Service 
77 Camden Street Lower 
Dublin, D02 XE80, Ireland



INFORMATION

34

Verwendungswarnung! 

Dieses Produkt ist nur für den Außenbereich 
bestimmt. 
NICHT in Innenräumen, Wohnmobilen, Zelten, 
Schuppen oder schlecht belüfteten Bereichen 
verwenden. 
Auf hitzebeständiger Oberfläche in offener, 
belüfteter Umgebung aufstellen. Kein
Spielzeug - Kinder und Haustiere während
der Nutzung und Abkühlung fernhalten.
Brennbare Gegenstände, lose Kleidung und
lange Haare fernhalten. Nicht überladen. 
Nur mit Grillanzündern gemäß EN1860-3
anzünden. Alle Warnhinweise und
Anweisungen für Anzündgeräte oder
Brennstoffe beachten. Feuerlöscher,
Gartenschlauch oder Eimer Sand für
Notfälle bereithalten.
 
WARNUNG! KOHLENMONOXIDVER- 
GIFTUNGSGEFAHR 

Dieses Produkt nicht in geschlossenen Räumen 
anzünden, glimmen oder abkühlen lassen. 
Nicht unter Markisen, Sonnenschirmen oder 
Pavillons verwenden. 
Nach dem Anzünden nie die Kohle anfassen. 
Immer den mitgelieferten Schürhaken
verwenden. Bei brennendem Feuer immer
den Funkenschutz verwenden. 

WARNUNG! 

Der Grill wird während der Nutzung extrem 
heiß und kann nicht bewegt werden. Die 
Oberfläche darunter wird ebenfalls sehr heiß 
und bleibt lange warm. Füße, Gliedmaßen
und Gegenstände von diesem Bereich
fernhalten. Warnung: Metallteile bleiben
nach Gebrauch heiß - nicht berühren bis
abgekühlt. Geeignete hitzebeständige
Handschuhe verwenden; normale
Ofenhandschuhe sind unzureichend. 

Auf Funkenflug achten. Feuer nie 
unbeaufsichtigt lassen. Nach Gebrauch
vorsichtig ohne Wasser löschen, um
Rauchentwicklung zu vermeiden. Beim
Löschen Abstand halten. Vor Ascheentfernung
vollständiges Abbrennen der Kohle
abwarten. Asche sicher entsorgen zur 
Brandvermeidung. Nur vollständig
abgekühlt bewegen/lagern. 

Allgemeine Sicherheit 

Das Montagepaket enthält Kleinteile, die
für Kinder und Haustiere eine Erstickungsgefahr 
darstellen können. Auf festem und ebenem 
Untergrund aufstellen. 
Nur in aufrechter, stabiler Position verwenden. 
Produkt nicht überladen, da dies zu Beschädi- 
gungen oder Verletzungen führen kann. 

Vor dem ersten Gebrauch 

Produkt nahe dem endgültigen Standort 
zusammenbauen, Anleitungsschritte der Reihe 
nach befolgen. Hindernisfreien Bereich fern 
von Brandgefahren wählen.
 
Wartung 

Produkt nicht mit scheuernden Tüchern oder 
Chemikalien reinigen. Lösungsmittel oder
Reinigungsmittel können die Oberfläche
beschädigen. 
Verschraubungen regelmäßig prüfen und
nachziehen, besonders eine Woche nach
Montage. Mit milder Seife, warmem Wasser
und weichem Tuch reinigen. Fehlende Teile?
E-Mail an support@domu.co.uk 



RECHTLICHES 

34

ENTSORGUNGSINFORMATIONEN 

Bitte recyceln Sie, wo Einrichtungen vorhanden 
sind. Erkundigen Sie sich bei Ihrer örtlichen
Behörde nach Recycling-Empfehlungen.
 
KUNDENSERVICE 

Wenn Sie Schwierigkeiten bei der Verwendung 
dieses Produkts haben und Unterstützung
benötigen, kontaktieren Sie bitte 
support@vonhaus.com 

GARANTIE 

Um Ihr Produkt zu registrieren und herauszufin- 
den, ob Sie für eine kostenlose erweiterte
Garantie qualifiziert sind, besuchen Sie bitte
www.vonhaus.com/warranty. 

Bitte bewahren Sie einen Kaufbeleg oder
eine Kaufbestätigung als Nachweis des
Kaufdatums auf.
 
Die Garantie gilt nur, wenn das Produkt
ausschließlich in der in den Warnhinweisen
dieses Handbuchs angegebenen Weise
verwendet wird und alle anderen
Anweisungen genau befolgt wurden. 

Jeglicher Missbrauch des Produkts oder die
Art und Weise, wie es verwendet wird,
führt zum Erlöschen der Garantie. 

RÜCKSENDUNGEN 

Zurückgesendete Waren werden nur akzeptiert, 
wenn sie in ihrer Originalverpackung neu

verpackt und mit einem relevanten und
ausgefüllten Rücksendeformular versehen
sind. Dies hat keinen Einfluss auf Ihre
gesetzlichen Rechte. Im Rahmen dieser
Garantie werden einer Person, die das Gerät
aus zweiter Hand oder für gewerbliche
oder gemeinschaftliche Nutzung erwirbt,
keine Rechte eingeräumt. 

URHEBERRECHT 

Alle Materialien in dieser Bedienungsanleitung 
sind urheberrechtlich geschützt durch DOMU 
Brands. 

Jede unbefugte Nutzung kann weltweit gegen 
Urheberrechts-, Marken- und andere Gesetze 
verstoßen. 

VIELEN DANK 

Vielen Dank für den Kauf Ihres Produkts/ 
Geräts. 
Sollten Sie Hilfe zu Ihrem Kauf benötigen, 
kontaktieren Sie uns bitte unter
support@domu.co.uk 
VonHaus ist eine eingetragene Marke von 
DOMU Brands Ltd. Hergestellt in China
für DOMU Brands. 

AUTORISIERTER VERTRETER 

Authorised Representative Service 
77 Camden Street Lower 
Dublin, D02 XE80, Ireland 



INFORMACIÓN

36

¡Advertencia de uso previsto! 

Este producto es solo para uso en exteriores. 
NO usar en interiores, autocaravanas,
tiendas de campaña, cobertizos o áreas mal
ventiladas. 
Colocar sobre superficie resistente al calor en 
área abierta y ventilada. No es un juguete - 
mantener alejados a niños y mascotas
durante uso y enfriamiento. Mantener alejados
objetos inflamables, ropa suelta y cabello
largo. No sobrecargar. 
Encender solo con pastillas de encendido
que cumplan con EN1860-3. Seguir todas
las advertencias e instrucciones para equipos
de encendido o combustibles. Mantener
cerca un extintor, manguera de jardín o
cubo de arena para emergencias. 

¡ADVERTENCIA! PELIGRO DE ENVENE- 
NAMIENTO POR MONÓXIDO DE 
CARBONO
 
No encender, dejar arder o enfriar este
producto en espacios cerrados. No usar bajo
toldos, sombrillas o cenadores. 
Nunca manipular el carbón después de
encenderlo. Usar siempre el atizador
proporcionado. Usar siempre la rejilla
protectora cuando el fuego esté encendido. 

¡ADVERTENCIA! 

La barbacoa se pondrá extremadamente
caliente durante el uso y no se podrá mover.
La superficie debajo también se calentará
mucho y permanecerá caliente durante
un tiempo. Mantener pies, extremidades y
objetos alejados de esta área. 
Advertencia: Las partes metálicas permanecen 
calientes después del uso - no tocar hasta
que se enfríen. Usar guantes resistentes
al calor apro- 

piados; los guantes de cocina estándar no
son seguros. Vigilar las brasas voladoras.
Nunca dejar el fuego sin supervisión.
Después del uso, apagar cuidadosamente
sin agua para evitar irritación por humo.
Mantener distancia al apagar. Esperar a que
el carbón se apague por completo antes
de retirar las cenizas. Desechar las cenizas
de forma segura para prevenir incendios.
Mover/almacenar solo cuando esté 
completamente frío. 

Seguridad General 

El paquete de montaje contiene piezas
pequeñas que pueden representar riesgo
de asfixia para niños y mascotas. Colocar
sobre suelo firme y nivelado. 
Usar solo en posición vertical estable. 
No sobrecargar el producto ya que puede
resultar en daños al producto o lesiones
personales.
 
Antes del Primer Uso 

Ensamblar el producto cerca de su ubicación 
final, siguiendo los pasos del manual en
orden. Elegir un área sin obstáculos lejos
de riesgos de incendio. 

Mantenimiento 

No limpiar el producto con paños abrasivos
o químicos. Los solventes o detergentes
pueden dañar la superficie. 
Revisar y apretar los ajustes regularmente,
especialmente una semana después del
montaje. Limpiar con jabón suave, agua
tibia y paño suave.

¿Faltan piezas? Correo electrónico a 
support@domu.co.uk 



LEGAL

37

INFORMACIÓN SOBRE ELIMINACIÓN
 
Por favor, recicle donde existan instalaciones. 
Consulte con su autoridad local para obtener 
consejos sobre reciclaje. 

SERVIZIO CLIENTI 

Si tiene dificultades para usar este producto
y necesita ayuda, por favor contacte a 
support@vonhaus.com 

GARANTÍA 

Para registrar su producto y averiguar si
califica para una garantía extendida gratuita,
por favor visite www.vonhaus.com/warranty 

Por favor, conserve un comprobante de
compra o declaración como prueba de la
fecha de compra.
 
La garantía solo se aplica si el producto se
utiliza únicamente de la manera indicada
en la página de advertencias de este manual,
y todas las demás instrucciones se han
seguido con precisión. 

Cualquier abuso del producto o la manera
en que se utiliza invalidará la garantía. 

DEVOLUCIONES 

Los productos devueltos no serán aceptados
a menos que sean reempaquetados en
su embalaje original y acompañados de
un ormulario de devolución relevante y
completado. Esto no afecta sus
derechos legales. 

No se otorgan derechos bajo esta garantía
a una persona que adquiera el aparato
de segunda mano o para uso comercial
o comunitario. 

DERECHOS DE AUTOR 

Todo el material en este manual de
instrucciones está protegido por derechos
de autor de DOMU Brands. 

Cualquier uso no autorizado puede violar
las leyes de derechos de autor, marcas
comerciales y otras leyes en todo el mundo. 

GRACIAS 

Gracias por comprar nuestro producto/
aparato. 
Si necesita ayuda con su compra,
contáctenos en support@domu.co.uk 
VonHaus es una marca registrada de
DOMU Brands Ltd. Fabricado en China
para DOMU Brands. 

REPRESENTANTE AUTORIZADO
 
Authorised Representative Service 
77 Camden Street Lower 
Dublin, D02 XE80, Ireland



INFORMAZIONI

38

Avvertenza per l’uso previsto! 

Questo prodotto è destinato esclusivamente 
all’uso esterno. 
NON utilizzare in ambienti chiusi, camper, 
tende, capanni o aree poco ventilate. 
Posizionare su superficie resistente al calore 
in area aperta e ventilata. Non è un
giocattolo - tenere lontani bambini e animali
durante l’uso e il raffreddamento. Tenere
lontani oggetti 
infiammabili, indumenti larghi e capelli lunghi. 
Non sovraccaricare. 
Accendere solo con accenditori conformi
alla norma EN1860-3. Seguire tutte le
avvertenze e istruzioni per qualsiasi attrezzatura
di accensione o combustibili. Tenere a
portata di mano un estintore, tubo da
giardino o secchio di sabbia per emergenze. 

ATTENZIONE! PERICOLO DI AVVELENA- 
MENTO DA MONOSSIDO DI CARBONIO 

Non accendere, far ardere o raffreddare
questo prodotto in spazi chiusi. Non utilizzare
sotto tende, ombrelloni o gazebo. 
Non manipolare mai il carbone dopo l’ac- 
censione. Utilizzare sempre l’attizzatoio
fornito. Utilizzare sempre la griglia di
protezione quando il fuoco è acceso. 

ATTENZIONE! 

Il barbecue diventerà estremamente caldo
durante l’uso e non potrà essere spostato.
Anche la superficie sottostante diventerà
molto calda e rimarrà calda a lungo.
Tenere piedi, arti e oggetti lontani da
quest’area.
Attenzione: Le parti metalliche rimangono 
calde dopo l’uso - non toccare fino al
 

raffreddamento. Utilizzare guanti termoresistenti
appropriati; i guanti da forno standard non
sono sicuri. Fare attenzione alle braci volanti. 
Non lasciare mai il fuoco incustodito. Dopo
l’uso, spegnere con cautela senza acqua per
evitare irritazione da fumo. Mantenere la
distanza durante lo spegnimento. Attendere
il completo spegnimento del carbone prima
di rimuovere la cenere. Smaltire la cenere
in modo sicuro per prevenire incendi. Spostare/
conservare solo quando completamente freddo.
 
Sicurezza Generale 

Il kit di montaggio contiene piccole parti
che possono rappresentare un rischio di
soffocamento per bambini e animali.
Posizionare su superficie solida e piana. 
Utilizzare solo in posizione verticale stabile. 
Non sovraccaricare il prodotto poiché
potrebbe causare danni al prodotto o
lesioni personali. 

Prima del Primo Utilizzo 

Assemblare il prodotto vicino alla sua
posizione finale, seguendo i passaggi del
manuale in ordine. Scegliere un’area libera
da ostacoli lontano da rischi di incendio. 

Manutenzione 

Non pulire il prodotto con panni abrasivi o 
prodotti chimici. Solventi o detergenti
possono danneggiare la superficie. 
Controllare e stringere i fissaggi regolarmente, 
specialmente una settimana dopo il
montaggio. Pulire con sapone delicato,
acqua tiepida e panno morbido.
Parti mancanti? Email a 
support@domu.co.uk 



LEGALE

39

INFORMAZIONI SULLO SMALTIMENTO 

Si prega di riciclare dove esistono le strutture. 
Verificare con l’autorità locale per consigli
sul riciclaggio.
 
SERVIZIO CLIENTI 

Se si hanno difficoltà nell’utilizzo di questo 
prodotto e si necessita di supporto, si prega
di contattare support@vonhaus.com 

GARANZIA 

Per registrare il prodotto e scoprire se si ha
diritto a un’estensione gratuita della garanzia, 
visitare www.vonhaus.com/warranty 

Si prega di conservare una prova d’acquisto 
o una dichiarazione come prova della data 
d’acquisto. 

La garanzia si applica solo se il prodotto
viene utilizzato esclusivamente nel modo
indicato nella pagina delle avvertenze
di questo manuale e tutte le altre istruzioni
sono state seguite accuratamente. 

Qualsiasi abuso del prodotto o del modo in 
cui viene utilizzato invaliderà la garanzia. 

RESI 

I beni restituiti non saranno accettati a meno 
che non siano reimballati nella confezione 
originale e accompagnati da un modulo
di reso pertinente e compilato. Ciò non
influisce sui diritti legali.

Nessun diritto viene concesso in base a
questa garanzia a una persona che acquista
l’apparecchio di seconda mano o per uso
commerciale o comunitario. 

DIRITTI D’AUTORE 

Tutto il materiale in questo manuale di
istruzioni è protetto da copyright di
DOMU Brands. 

Qualsiasi uso non autorizzato può violare
le leggi sul copyright, sui marchi e altre
leggi in tutto il mondo. 

GRAZIE 

Grazie per aver acquistato il nostro
prodot-to/apparecchio. 
Se hai bisogno di assistenza riguardo al
tuo acquisto, contattaci all’indirizzo
support@ domu.co.uk 
VonHaus è un marchio registrato di
DOMU Brands Ltd. Prodotto in Cina
per DOMU Brands. 

RAPPRESENTANTE AUTORIZZATO 

Authorised Representative Service 
77 Camden Street Lower 
Dublin, D02 XE80, Ireland



Product No. 2502078




